N57(q) = %-qd - 2~T(q)

N25(q) = %-qd - 3~T(q)

N79
q h
E-1

79 (q) :

[:=2.293.10

a:= b:

4 E:= 2.1-108

]:=8 h=5
W
_ Bl ORIGIN := 1
h NMVWWWWWWW
_q
N810(q) = L= + 1(q)

N68(q) = %-qd + 2~T(q)

N36(q) = %-qd + 3~T(q)

D79(q) =2 - 2~cos(>\79 (q)) - \79 (q)-sin(>\79 (q))

w79(q) _ N9 (Q)Z-(l - cos(>\79

()

79 (q) _ 79 (q)-(>\79 (q) - sin(>\79 (q))) d>79(q) :

. D79(q)

>\57(Q) = &.h
\J E-1

_ 219 (q)-(sin(x79 () = 2379 (q)-cod279 (a)))

p79(q)

D57(q) =2 - 2~cos(>\57 (q)) — N\57 (q)-sin(>\57 (q))

()

_ ST (q)-(>\57 (q) — sin(X\57 (q)))

~257(q)7 (1 — codns7
ws7(q) = k! D57(a)

25 (q) = ’& (q).h
E-1

D79(q)

_ 257 (q)(sin(x57 () - 257 (q)-cod257 (q)))

x57(q) : $57(q) :

D57(q)

D25 (q) =2 - 2~cos(>\25 (q)) - \25 (q)-sin(>\25 (q))

3 \25 (q)z-(l - cos(>\25

()

w25 (q) = Dos (q)

2810 (q) = {w (q7.h
E-1

D810 (q) == 2 — 2-cosx810 (q)) -

2810 (0)*-(1 = codx810 (q)))

D57(q)

_X25 (q)-(sin(XZS (q)) - \25 (q)-c08(>\25 (q)))

(q) = 25 (q)-(n25 (q) — sin(x25 (q)))

x25(q $25(q)
D25(q)

2810 (q)-sin(x810 (q))

w810 (q)

268 (q) = ’& (q).h
E-1

D810 (q)

D68(q) =2 - 2~cos(>\68 (q)) — N\68 (q)-sin(>\68 (q))

w68(q) = 268 (q)>-(1 — codn68

810 (q) o 810 (q)-(XSI](;g(FO)(;)sin(XSIO (9)) 6810 (q)
@) (o) = 268 la)lDes ) —sinbs (@) oy

. D6s(q)

36 (q) = ’& (q).h
E-1

D25(q)

2810 (g)-(sin(3810 (g)) = 2810 (g)-codx810 (¢)))

D810 (q)

_ 268 (q)-(sin(x68 () — 268 (q)-cos268 (q)))

D68(q)

D36(q) =2 - 2~cos(>\36 (q)) - \36 (q)-sin(>\36 (q))

w36(q) = 236 (9)*-(1 = codn36

()

6(q) o 36 (q)-06 (q) - sin(x36 (q))) 636(q)

- D36(q)

N RACUS
’ E-J

xi(q)

D6s(q)

36 (q)-(sin(k% (q)) - 236 (q)-c08(>\36 (q)))

D36(q)

D36(q)

Diq) = 2 - 2-codt(q)) — Nilg)-sin(i(q))
wt( ) _ >\t(q)2-(l - coS(Xt(q))) Xt( ) . kt(q)-(kt(q) - sin(kt(q))) dﬁ( ) — kt(q)-(sin(kt(q)) - kt(q)-cos(kt(q)))
- piq) 4 Dilq) v Diq)
SOSTITUZIONI
A70(c) = 2.w79(q)  N79(g) as7(a) = 2.ws7(q)  N57(g) A25(0) = 2-625(a)  N25(q)
q) = ( 2 E1 j 4= ( 12 El j v ( 12 El j
As10(q) = 2-w810(q)  N810(g) a6s(q) = 2-w68(q)  N6s(q) A36(q) 2-w36lq)  N36(q)
q) = ( > B j a7= ( 2 Bl j v ( 2 El j
b-( _“’2; o) , ws ;(q)j b(%ﬂq)j 0 a-(o(q)) + (625 (q) + 057(q))
b-( ws;(q) j b-( _“’5117(‘1) + "ﬂi(q)j b-( _“’7119(q)j b-(x57(q))
0 b.( w7i(q)j b.( —w7h9(q)j 0
b-( w6i(q) - w3i(q)j b-(—_w?(q)j 0 a-(xt(q))
o) b_( wéi(q)j b.( ol (a) wéi(q)j b'(_wSLO (q)j .
. b.( w812 (q)j b.( _wSLO (q)j .
b-(a25(q) + A57(q) + A36(q) + A68(q)) b-(—as57(q) — A68(q)) 0 b-( _‘”2};5 (a) ws;(q))
b-(-a57(q) - A68(q)) b-(a57(q) + A79(q) + A68(q) + A810(q)) b-(-A79(q) - A810(q)) b-( —w5h7(q)j
0 b-(-a79(q) - A810(q)) b-(A79(q) + A810(q)) 0
q:=20 n(g) = | clq)]
Given qo0 = 20
m(|C(q)|) =0 root(n(qO),qO):|
Find (q) =1

Here | tried to use a 6x6 matrix, just to semplify the problem, but it's the same thing

w25 57 —ws7
b-( =, 2 h(q)j b(“’T(q)j 2-($()) + b-(625(q) + 57(q))
[ w57(q) [ZwST(@) | wW79(q) )
b (—h j b( — T ) b-(x57(q))
w68(q)  w36(q) -w68(q) .
b.( - ) b-(—h ) a-(Xt(q))
C6 =
b(w68(q)) b(wSlO(q) - w68(q)) 0
h h h
0 b(mj 0
h
b-(A25(q) + AS7(q) + A36(q) + A68(q))  b-(~A57(q) — A68(q)) b.(“"th(Q) N w5171(q))
A= 20
Given
|Cc6(a)] =0

Find(q) =

a-(x(q)) b-(x57(q)) 0
0 a-(¢t(q)) + b-(d57(q) + $79(q)) a-(x%(q))
a-(t(q)) + b-(b68(q) + $36(q)) 0 b-(x68(q))
b-(x68(q)) a-(x(q)) a-(¢t(q)) + b-($810(q) + $68(q))
0 0 b-(x810(q))
(o)
h h h h

a-(xt(a)) b-(x57(a))

0 a-(¢tlq) + b(657(q) + $79(q))
0 b-(x79(q))

a-(otlq)) + b-(¢68(q) + $36(q)) 0

b-(x68 (q)) a-(xt(a))
0 0
b.( —w3h6(q) w6i (q)j b.( wszl (q)
b_( —w6§ (q)j ) (—w5h7(q) . wi(q)j

. b.( —w7h9(q)j

a-(xt(a))
0
b-(x68 (a))
a-(¢tlq) + b-(0810(q) + ¢68(q))

b-(x810 (q))

b.( j

w68 (q)
h

0
b-(x79(q))

a-(otlq)) + b-(679(q))

a-(xt(q))

0

b-(x810 (q))




This is the last attempt, stupid and useless

al .= C61’1 a2 .= C61’2 a3 .= C61,3 a4 = C61’4 a5 .= C61’5 a6 .= C61,6
bl = C62’1 b2 = C62’2 b3 = C62,3 b4 = C62’4 bS5 = C62’5 b6 = C62,6
cl:= C63’1 c2:= C63’2 c3 = C63,3 c4 = C63’4 c5 = C63’5 c6 = C63,6
dl = C64’1 d2 .= C64’2 d3 .= C64,3 d4 = C64’4 ds = C64’5 d6 .= C64,6
el = C65’1 e2:= C65’2 el .= C65,3 e4 = C65’4 e5:= C65’5 eb = C65,6
fl .= C66,1 2= C66,2 f3 .= C66,3 f4 .= C66,4 f5:= C66,5 6 := C66,6
al a2 a3 a4 a5 a6
b2 b3 b4 b5 b6 a2 a3 a4 a5 a6 a2 a3 a4 a5 a6 a2 a3 a4 a5 a6 a2 a3 a4 a5 a6 a2 a3 a4 a5 a6
bl b2 b3 b4 b5 b6
L& 3 ch o5 o6 c2 ¢3 c4 ¢5 c6 c2 ¢c3 c4 ¢5 c6 b2 b3 b4 b5 b6 b2 b3 b4 b5 b6 b2 b3 b4 b5 b6 b2 b3 b4 b5 b6
cl ¢2 ¢3 ¢4 ¢5 ¢
C6D = i o 43 dd dS d6 Al:=[d2 d3 d4 d5 do6 Bl:=|d2 d3 d4 d5 dé6 Cl:=|d2 d3 d4 d5 dé6 Dl:={c2 ¢3 ¢4 c5 ¢cb6 El:=]c2 ¢3 ¢4 ¢c5 c6 Fl:=]c2 ¢3 c4 ¢c5 ¢c6
e2 e3 ed e5 eb6 e2 e3 ed e5 eb6 e2 e3 ed e5 eb e2 e3 ed e5 eb d2 d3 d4 d5 d6 d2 d3 d4 d5 d6
el €2 e3 ed e5 e6
2 f3 f4 5 f6 2 f3 f4 5 f6 2 f3 f4 5 f6 2 f3 f4 5 f6 2 f3 f4 5 16 e2 e3 ed e5 eb
fl 2 3 4 {5 16
|A1] == b2-|Alb| —c2-|Alc| + d2-|Ald] - e2-|Ale| + £2-|ALf]
c3 ¢4 c5 ¢6 b3 b4 b5 b6 b3 b4 b5 b6 b3 b4 b5 b6 b3 b4 b5 b6
d3 d4 d5 dé6 d3 d4 d5 dé6 c3 ¢4 c5 ¢c6 c3 ¢4 ¢c5 ¢6 c3 ¢4 c5 ¢6
Alb = Alc = Ald = Ale = Alf =
e3 ed e5 €6 e3 ed e5 €6 e3 ed e5 €6 d3 d4 d5 dé6 d3 d4 d5 dé6
f3 4 f5 f6 f3 f4 f5 f6 f3 f4 f5 f6 f3 f4 f5 f6 el e4 e5 eb
|B1| := a2-|Bla| — c2-|Bic| + d2-|B1d| — e2-|Ble| + f2:|BIf]
c3 ¢4 c5 ¢co6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6
d3 d4 d5 dé6 d3 d4 d5 dé6 c3 ¢4 ¢c5 c6 c3 ¢4 c5 c6 c3 ¢4 ¢c5 ¢c6
Bla:= Blc := Bld = Ble := BIf =
el ed e5 €6 el ed e5 €6 e3 ed e5 e6 d3 d4 d5 dé6 d3 d4 d5 dé6
f3 4 f5 f6 f3 f4 f5 f6 f3 4 f5 f6 f3 f4 f5 f6 el e4 e5 eb

|C1| := a2-|Cla| — b2 |CIb| + d2-|C1d| - e2-|Cle| + £2-|C1f]

b3 b4 b5 b6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6

d3 d4 d5 dé d3 d4 d5 dé b3 b4 b5 b6 b3 b4 b5 b6
Cla:= Clb := Cld = Cle = Clf =
d3 d4 d5 dé

{63 ed e5 eb

a3 a4 a5 a6
b3 b4 b5 b6

e3 e4 e5 eb e3 e4 e5 eb el e4 e5 eb d3 d4 d5 dé6
f3 4 f5 f6 f3 f4 f5 f6 f3 f4 f5 f6
|D1| := a2-|Dla|] — b2-|D1b| + c2-|Dlc| - e2:|Dle| + f2-|Dif]

a3 a4 a5 a6
b3 b4 b5 b6

a3 a4 a5 a6

b3 b4 b5 b6
Dle =

c3 c4 ¢S5 c6

Dla := DIf =

c3 c4 ¢S5 c6
e3 e4 e5 eb

e3 ed4 e5 eb
f3 4 f5 f6

ed e5 eb6
4 5 f6

e3 ed e5 eb

b3 b4 b5 b6 a3 a4 a5 a6
c3 c4 ¢S5 c6 c3 ¢4 c5 ¢c6
Di1b:=
e3
f3 4 5 f6 3

a3 a4 a5 a6
b3 b4 b5 b6

|E1| := a2-|Ela] — b2-|E1b| + c2-|Elc| — d2:|E1d| + £2:|E1f]

b3 b4 b5 b6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6
Ela e c3 ¢4 c5 c6 Elb c3 ¢4 c5 c6 Ele o (b3 b4 b5 b6} Eld o (b3 b4 b5 b6} EIf (b3 b4 b5 b6}

d3 d4 d5 dé6 d3 d4 d5 dé6 d3 d4 d5 dé6 c3 ¢4 c5 c6 c3 ¢4 c5 c6

3 f4 f5 f6 f3 f4 f5 f6 f3 f4 f5 6 f3 f4 f5 f6 d3 d4 d5 de
|F1| := a2-|Fla| — b2-|F1b| + c2-|Flc| — d2-|F1d| + e2-|Fle|

b3 b4 b5 b6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6 a3 a4 a5 a6
T T R A b3 b4 b5 b6 b3 b4 b5 b6 b3 b4 b5 b6

d3 d4 d5 d6 d3 d4 d5 d6 Fle=1 05 a4 a5 ds Fd=1 3 o o5 e Fle=l s e o5 o

e3 ed e5 6 e3 ed e5 6 €3 e4 e5 6 e3 e4 e5 6 d3 d4 ds d6

&q) = al-|Al| - b1-|B1| + cl-|C1| - d1-D1] + el-|E1| - f1-[F1]

&q) = al-(b2-|Alb| - c2:|Ale| + d2-|Ald| - e2-|Ale| + £2:|ALf]) - bl-(a2-|Bla| - c2:|Blc| + d2:|B1d| - e2:[Ble| + £2:[BIf|) + cl-(a2-|Cla|] - b2-[Clb| + d2-|Cld| - e2:Cle| + £2:[C1f|) - dl-(a2-|Dla| - b2:[D1b| + c2-|Dlc| - e2:|Dle| + f2:|D1f|) + el-(a2- |Ela| - b2-|E1b| + c2-|Elc| - d2-|E1d| + f2-|E1f]) — fI-(a2-[F1a| - b2-|F1b| + c2-|Flc

() = |C(q)
.= 20
0:=20
Given Mo
o(q) root(n(q0),q0) =1

Find(q) = 0



o| —d2-|F1d| + e2:|Fle|)



